4th Physics Olympiad Examination is held today ON 8™
November, 2022 at B.H. College Centre where 47 candidates
attend in category-I(IX to X) and 161 candidates attend in
category-lI(XI to Xll). The Examination is conducted by the
Department of Physics, B.H. College under the aegis of Assam
Physical Society.

Here we have attached the question papers and some
photographs of the examination.
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SECTION A

1. The dimension of surface tension Is -

ROIRT W are -
(A) M'LAT-? (B) M~'L'T2
(€) MOL~'T? (D) M'L°T~?
ANSWER of 1

2. The atmospheric pressure is 106 dyne/cm®. What s its value in the SI unit?
GRS 5 106 dyne/cm? | S GFFS B TF w7

(A) 106 N/m? (B) 104 N/m?
(C) 105 N/m? (D) 103 N/m?®

ANSWER of 2;

3. Which wave from the following doesn't carry energy?

T (FLL] THLITS *IE HeAES 77 7
(A) Longitudinal progressive wave Wqtw¥l esm Saes (B) EM wave jepedm sags
(C) Transverse progressive wave W72¥ @i wqes (D) Stationary wave ] T4
ANSWER of 3:

4. The period of the simple harmonic oscillator is 2 sec. The ratio of its maximum velocity
and maximum acceleration is

A g8 (A U 2 sec | TR TAG @9 WF AES TR A4S T

(A) = (B) 1/x
(C) 2m (D) 4

ANSWER of 4:

5. An engine has an efficiency of 1/6, When the temperature of the sink is reduced by 62° C,
its efficiency is doubled. The temperature of the source is -

«b1 Zferra wrfEet 1/6 1 cufem 6w Twl 627 € T T T (oM ZuR Il qod )
T Tarw T -

(A) 124°C (B) 37°C
(€) 72°C (D) 99°C

ANSWER of 5;
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earth In a spaceship is the result of
6. Weightlessness experienced while orbiting ﬂf”“"dcgf];_m QAR WIS FAM FTAC

W S @¥q qfen AT nfReRE g o

(A) Acceleration a9
(C) Zero gravity Mgl

(B) Inertia G
(D) Centre of gravity SRS

ANSWER of 6:

7. 110 J of heat are added to a gaseous system and its internal energy increases by 40 J, then
the amount of workdone is-

CTR T BT 110 J T W19 ST FAS T ZAR WSy A+ 40 J T A, (IE FA M-

(A) 150] (B) 70]
(€) 110] (D) 40)

ANSWER of 7:

8. Two gases are at temperature 300 K and 350 K respectively. Ratio of average kinetic energy
of their molecule is

o1 CTZ TCI 300 K WF 350 K Tueers wng | Hriew wem op e wqers za

(4) /6 (B) 36/49
(C) 6/7 (D) 346/216

ANSWER of 8:

9. Given a sample of Ra** having half life of 4 days. Find the probability of a nucleus
disintegrates after 2 half lives.

Ra® 3 741y 4 e | bt wdige Pres s se weme 1

(A) 1 (B) 1/2
(C) 1/4 (D) 3/4

ANSWER of 9:

10. When a charge particle enters in a magnetic field at 30 jts path becomes
e wfEe T @B1 g v gvws 300 (FITS AT IR (TTF TR ~AATHT 37

(A) Circular T@RR (B) Elliptical BorgERm
(C) Straight line Faoafi= (D) None of these w«Bre 7z
ANSWER of 10:

11. For an electron in the 2M

orbit of hydrogen, what is the 5 '
atomic model ngular momentum as per Bohr's
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12,

13.

14.

15.

16.

TR R s o BTl @A S

(A) 27h (B) mh
(C) h/n (D) 2h/m

ANSWER of 11: D

An artificial satellite moving in a circular orbit around the earth has a total energy of Eo.

Its potential energy is -
ﬁ%ﬁﬂﬁwwwmﬁﬁwmwﬂ@ﬁmqbﬁ@ Ep | 2714 fasq =f5 271 -

(A4) 2Eo (B) Eo
(C) —2Eg (D) —Eo

ANSWER of 12; |:|

Moment of inertia depends on-

TS ST I -

(A) Distribution of particles TR e ' (B) Mass =9

(C) Position of axis of rotation Y wagH (D) All of these FFTNAE
ANSWER of 13:

The area served by an antenna of height 100 m is -
100 m THER GCBAR T G SIITFIRAT WL LA -

(A) 1x10° m? (B) 4 x10°m?
(C) 6x10°m? (D) 8 x 10°m?

ANSWER of 14:

Semiconductors of both p-type and n-type are produced by -
P-4 UIF p-4FF LA Qo212 Teotw = -

(A) Ionic Solids W e o (B) Covalent Solids T=war&t s sl
(C) Metallic Solids 4rw3m Ffzm el (D) Molecular Solids =neifs 5w stwref
ANSWER of 15

In which of the following type of circuit the maximum power dissipation is observed?
TR (FTGT AR AT F4 *f wemy oyt (R Tr?

(A) Pure capacitative W% ¥@EW  (B) Pure inductive g witie
(C) Pure resistive % @redm (D) None of these WIWRA FTATHIRS 72T

ANSWER of 16:
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17.

19,

20.

21.

i oint. The potent;
A charge is moved from lower potential point to a higher potential p potentia|

energy of the charge will-

bt w1 i few fanga a1 S froa fgte ter crat 2 covs e frea = -
(B) decrease I *M

(A) remains the same  aze3 dife=
(D) become zero [ 1% *A

(C) increase 3% =m

ANSWER of 17:

» A body is projected vertically from the surface of the earth of radius R with velocity equal

to half of the escape velocity. The maximum height reached by the body is-
nmﬁ:qﬁ‘&hqﬁzwﬁm@wmmawmwmmmﬁmmmm
1 IJIOR ST T TS Twe) 37

(4) R (8) R/2
(C) r/3 (D) R/4

ANSWER of 18: ]:]

Which of the following phenomenon is not observed in case of a sound wave?

TR TN AR w1 TR IHYEE ?
(A) Relection fewem (B) Interference TRl
(C) Polarization +F¥RER (D) Diffraction w*qEq
ANSWER of 19:

The product of permeability of free sapce and permittivity is-
ATV T A WF R{HR N oo

(4) c (B) ¢!
(€) ¢ (D) ¢?

ANSWER of 20:

In SI unit, the intensity at any point on the magnetic axis is given by-
S| T, T THS 4] @G Ig:sqm 1eT-

o M 2M

W izn (B) 2227
Mo 2M ' M

O T (D) 223
dr A

ANSWER of 21: :]

22. At resonance frequency the impedance in series LCR circuit is-
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901 cITTE LCR-TEAS wpein) Ievfaiess, affEaa Wi

(A) Maximum WCi®
(C) Zero 0

ANSWER of 22:

(B) Minimum
(D) Infinity @3

23. To obtain a p-type silicon semiconductor, we need to dope pure silicon with -

p- @R e e ot smate @ify few fiffms o

(A) Aluminium e
(C) Oxygen wfHEm

ANSWER of 23:

_‘Tﬂ‘ﬂﬂ~

(B) Phosphorus’ wZwFATg
(D) Germanium rfframa

24. Which colour from the following will have the highest deviation?
TR FHRY T P s @ft w7 2

(A) Orange <=
(C) Yellow ¥

ANSWER of 24:

25. Accelerated electrons can show-

YRS ORI TR GRERt A s -

(A) Interference FIMAIYH

(C) Interference & Diffraction FEICAI WF HASH

ANSWER of 25:

(B) Green CTE&M
(D) Blue

(B) Diffraction w*1I¥q
(D) None of these 4B18 757

26. The amount of workdon;fger unit volume of a stretched wire or spring is given by -

w9 F=re awrer B
1

ANSWER of 26:

Stress x Strain %aﬁssm « g
(C) Stress x Strain efewie x 7S

27. Which of the following is not a transducer?

TR I @ATEEER AZn?

(A) Loudspeaker wEE=AraTq
(C) Microphone TIR&CFH

ANSWER of 27:

(B)

JFE GIISTS I T 17-

2

3

= Stress x Strain % fsmre x fagfe
1 1

(D) 7 Stress x Strain - offemrer x Rgfs

(B) Amplifier “ffds
(D) All of these JFTIERNR
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28.

29,

30.

3l

32,

Which of the following particle, having same velocity will have the highest de Broglie
wavelength?

HATITS 41 WIS, Worq Coren! wldata 5 an waestaly samens afe 79 7

(A) @ — particle @renp-afd (B) Proton &04

(C) Neutron fR&G7 (D) Electron Ztr@ga
ANSWER of 28:
The wavefront due to a source situated at infinity is-
TS 431 B BT wAYAA W -

(A) Spherical ¢TI (B) Cylindrical FoIFf®

(C) Planar wem (D) None of these «B1@ 7IZA

ANSWER of 25: E

The work function of a material depends on-
(I TF v (757 303 -
(A) Used material IA%® 37 (B) Intensity of light ¢33 a=Ey
(C) frequency of light (sIZaT T (D) None of these able 7ZW
ANSWER of 30:

| SECTION B

For the estimation of Young's modulus for the specimen of a wire, following observations
were recorded: L = 2.890 m, M = 3.00 kg, diameter d = 0.082 m, & = 9.81 m/sec?, change
in length / = 0.087 m. The maximum percentage error in will be-

OIAT AL GTEE 3 QT WA A, S TFIMEAR @ I &% L = 2.890
m M = 3.00 kg, T d = 0.082 m, g = 9.81 m/sec?, G ARAET | = 0.087 m 1 & i
o1 T T3

(A) 0.87% (B) 3.95%
(C) 4.66% (D) 10.77%

ANSWER of 31:

A current flows through a wire having resistance 5 Q maintained at potential difference 7
V for 20 mins. The amount of heat produced is-

?Vﬁﬂﬂ%%ﬂﬁﬁﬂmﬁq@@qu
T (T8 T (TR o AT e ST 20 Tafoa <M s e ez

A) 140 cal
((6‘; 200 cl (B) 280 cal
N (D) 2800 cal

Page 7 of 19

Scanned with CamScanner



33.

34.

35.

36,

ANSWER of 32: |i]

An aeroplane requires for take-ofl a speed of 80 km/h, the run on the ground being 100
m. the mass of the airplane is 104 kg and coefficient of friction between the plane and
the ground is 0.2, Assume that the plane accelerates uniformly during the take off. The
maximum force required by the engine of the plane for take off-

QsR fem T WA 0 80 km/h @9 T wrw wibe ofaq il 100 mo fEEAET S9 e
104 ke W UM wE Wi wrere weq g g 020 ufa niew @ Ao s
TR §AS w0 T I T 2ea g svreen sl -

(A) #1300 N (B) 45000 N
(C) 40000 N (D) 54302 N

ANSWER of 33:

A tube of length L is filled completely with an incompressible fluid of mass M and closed
at both the ends. The tube is then rotated in a horizontal plane about one of its ends with
a uniform angular velocity @. The force exerted by the liquid at the other end-

L TR WA 951 M OH9 9T SRCHAE GArd Ajdare ofd T gt 9 9% T4 W)
=14 {oes w901 33 9B YA € uT AOE @FF @ @ TGS SRNe AIeS AR T
AT T4 TR T4 AT F41 99-

(A) ngﬁL (B) Mo?L

3.2 | (—
(€) sMa’L (D) sM?L

ANSWER of 34:

A simple pendulum has a time period Ty when on earth’s surface, and 7> when taken to a
height of R above the earth’s surface, where R is the radius of the earth. The ratio between
the time periods will be-

B! F4H (AGATR U AT AFICS A T I, arE A4 B 11 R THEE & v
T, T4, TT R L2z 43R Aend 1 *rimse 40/ TEd WeS T3-

(4) 1 (B) 2
(€) 3 (D) 4

ANSWER of 35:

Three particles each of mass M are kept at vertices of an equilateral triangle of side L. The

ravitational field at centre due to these particles is-
%-ﬁﬁ” M Tqa T G L WA e fagee SHfeTs T e @3 FEEE IR oEs R

caral Ml CFA T aE-

(A) 0 (Zero) (B) “if
GM GM
© o o) S
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37.

38.

39'

40.

ANSWER of 36:

In Young's experiment, the width of the fringes obtained with light of wavelength 600 nm
is 2 mm. If the entire apparatus is immersed in a liquid of refractive index 1.33 then the
new fringe width will be-

3 "'m. 600 nm TALLHA (OIEA9 CHCS 219 <G @Y U208 2 mm 1 TG SMB3 AgfeoT
1.33 dfeRne spe waers frafiss wa = omre T4 oA @y 7a-

(A) 1.85mm (B) 1.75 mm
(C) 1.55mm (D) 2.00 mm

ANSWER of 37:

What will be the increase in entropy of 1 kg of ice that is originally at 0° C and melts to
form water at 0” C ?

WABITS 0° C @1 M 07 C <A1 157 F41 1 kg I9TA GG R fFTE 7T 7

(A) 1.22x 107 )k~! (B) 1.22 x 10° Jx~!
(C) 1.42% 1073 JK~! (D) 1.32x 1072 JK™!
ANSWER of 38:

Two cars moving in opposite directions approach each other with speed of 22 m/s and 16.5
m/s respectively. The driver of the first car blows a horn having a frequency 400 Hz. The
frequency heard by the driver of the second car is (velocity of sound 340 m/s)-

7 ﬁwmwmm@@mzzm;.sw16.5m/.:*rﬁm3wﬁ1wwm
wifRTe | e MG SR 400 Hz 3 AT 4l 2 qEiEfe ) S TS B o
TG (2R (T @ 340 m/s)-

(A) 350 Hz (B) 448 Hz

ANSWER of 39;

Ina p—n-—p transistor circuit the collector current is 10 mA. 1f 90% of the holes reach
the collector, the ratio of emitter to base current will be-

p—;;—pmﬁﬂmﬂemmtEElﬂm ‘Iﬁ 2
Ot Lainehials ' 3% 90% @ ez awater 7, Fof

(A) 1.1

(C) 0.90 (8) 0.09

(D) 11

ANSWER of 40:

XXXXXXXXXXX}O(XXXXXXXXXXXXXXX
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SECTION A

t speed along a circle -
L. When a body moves with a constan g
cuém 41 T JOI LS AT B S T -
(A) No work is done on it ZHA @RS (A I F+41 7T=A
(B) No acceleration is produced on it~ ZWR @S (ICT T3 2
(C) 1ts velocity remains constant %R @7 g7 17 aMF
(D) No force acts on it~ ZH @IS AN I el @

ANSWER of 1:

} 2. The direction of the angular velocity vector is along -
1 (A) the tangent to the circular path J@IFE #43 =rfeq e
| (B) the inward radius JFER foeaq e

(C) the outward radius PR A Fpre

(D) the axis of the rotation g% fire

ANSWER of 2:

3. Which of the following is constant in a projectile motion?
el @M! dra s $33 IS ?
(A) Horizontal component of velocity (391F STl Gejie=
(B) Vertical component of velocity @99 TeTq e
(C) Velocity of the projectile STFALGR 3l
(D) All of these WBIRLFRL!

ANSWER of 3:

4. A body moves in a circle describing equal angle in equal times. Its velocity -
4B G AP #Y GBS A TS A (1 WfSern F{1 6o 0 | TAR @ -

(A) remains constant GTFZ AF

(B) changes in magnitude (319 AT e 2T

(C) changes in direction 7% 3 AR =

(D) changes in magnitude and direction ¥ &< e “fesq =

ANSWER of 4:

5. Essential characteristic of equilibrium is -

Page 2 of 10
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TETTE ARG Iy LR -

(A) Momentum is zero TSI [ (B) Acceleration is zero 3T [T
(C) Kinetic Energy is zero  if&*f& 2 (D) Velocity is zero (I *JT

ANSWER of 5:

6. A body of mass 40 gm is moving with a constant velocity of 2 cm/sec on a horizontal
frictionless table. The force on the body is -

40 om S99 BT TER TR AR GLTS 2 cm/sec T @oIEd S T WR 1 TFOR @ATS

foman == 3= t=m -
(A) 80 Dyne (B) 0 (Zero)
(C) 160 Dyne | (D) 200 Dyne
ANSWER of 6:

7. If mass-energy equivalence is taken into account when water is cooled to form ice, the mass

of the water should -
TIHET TGl RoA F[ oM 1 IR I9F 957 T TN, (SETE NN ©F -

(A) Increase Mo (B) remain unchanged Gt AT
(C) decrease Ff= (D) first increase then decrease 94tx 31fp f*r5® IfkE
ANSWER of 7: Ao

8. Two masses of 1 gm and 4 gm are moving with equal kinetic energy. The ratio
magnitudes of their momenta is - o

1 gm AIF 4 gm I 01 S TN o= 1S R @z Frieq saw@m® wgeis 79 -

e s

ANSWER of 8:

9. Inertial mass is independent of the -
Tued o7 99 -

(A) Shape of the body I¥EHE IR 34TS (B) Size of thé'--’E“
(C) state of the body JIHWGR ITIR €4S (D) All of these

ANSWER of 9:

10. If the earth stops rotating, the value of ‘g’ at the equator wi

=
M

# | Page 3 o 10 . ——
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uﬁqﬁﬁqﬁmﬂw.mm'g'wm-
(B) decrease Tfi

(A) increase AR
(C) have no effect Ty AT (D) none of these «bra T

ANSWER of 10:
11. The escape velocity of a body depends upon mass as -
ﬂammmmmmmwamﬁeﬁm .
(A) m® (8) m'
©) m* (D) m
ANSWER of 11

12. A truck and a car are moving with equal velocity. On applying breaks, both will stop after

certain distance, then - :
ga I W Q¥ MR FIE @I ofE R une ) @ et A fores, quanA rz ey 1A
forgs 1 TR, ofew -
(A) truck will cover less distance before stopping & (I SIS At 9 Ag Ao (3
(B) car will cover less distance before stopping I WIS MR YAY ST a7

(C) both will cover equal distance I FA Ay afe 49
(D) none of these aBre 7T

ANSWER of 12:
13. When the speed of a particle is doubled, its kinetic energy -
T T 9B e 7o1 T, TR -
(B) becomes double 78 A

(A) remains the same W% AT
(C) becomes half @4z (D) becomes four times vifRad 28

ANSWER of 13:

14. S.1. unit of energy is -
%7 5.1, 9TF UL -

(A) Joule T
(C) Watt a1 (D) Kg-m c¥f&-f,

ANSWER of 14:

15, Longitudinal waves can be produced in -
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1o,

17.

18.

19.

20.

o wAsa R T -
(8) Liquids =l or<fs

(A) Solids =0 *micfs
(€) Gases 1@ swref® (D) All of these TTBIETHZDI

ANSWER of 15: [_—j

The velocity of sound in vaccum is -

W[ATS *3 @ T -
(B) 30.5 m/sec

(A) Zero
(C) 120 m/sec (D) 330 m/sec

ANSWER of 16: :'

The instrument used to produce a sound of same frequency Is -
ATF TS 1 TAm IR IJ@TA T THO T -

(A) Speaker ™ (B) Bell jar @TEA
(C) Electric bell 2agfes 9o (D) Tuning fork FR-*=waT

ANSWER of 17:

Which one of the following materials cannot be used to make a lens ?

TR T A (TR IR AR 4 @i 2

(A) Water =i (B) Glass =5
(C) Plastic #few (D) Clay = @fe
ANSWER of 18:
Least distance of a distinct vision is -
™2 WA T GAY 74 -
[:A) 30 ¢m {B) 20 cm
ANSWER of 19:

The angle between two mirrors is 60° then the number of
Im 3
S G4 WA A e 600 =, e e o a‘ﬁsﬁnawg[;m?_med

A) 7
Ecri 5 () 6
(D) 3

ANSWER of 20: E

Pagesoflg T ——o
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21. The magnification of a concave lens is always -
e @A AR S -

(A) Less than unity 9I®lT a0 (B) Equal to unity GFa 373
(C) Greater than unity IFELT AfE (D) Equal to 2 G2 FIF

ANSWER of 21; :I

22, The nature of an image depends on -
sfSfRve agfes AR o -
(A) distance of the object from the lens 9 #41 JFEMA TG BT
(B) focal length of the lens @™ =& YAFq @S
(C) size of the object IB/OHR WHET SIS
(D) all of the above @M< APCANAR

| ANSWER of 22:

| 23. At absolute zero of temperature -
T [ TS -
(A) The molecular energy is minimum and not zero @fdT *If& Frew T = 724
(B} All the molecules come to rest and have zero energy SR =7 7@ @ =& *=5 =3
(C) Potential energy is zero F=fe*f& =7 =¥
(D) Molecules travel faster F9LAEE @7 @R =

ANSWER of 23:

24. A piece of ice is floating in a glass vessel filled with water. How will the water level change
in the vessel when the ice melts ?

AT T F16T AT GBS q9w9 fEar 9Bt ¢oife Wit | it 39 SR s AR Y @
At 79 7

(A) Level will increase =rar 3f& 23 (B) Level will decrease W@l SfX ¥
(C) Level will not change Wf@iT @ 723 (D) None of these (IFTABIIR 72T
ANSWER of 24:

25. The device used for producing electric current is called a -

AET ez TedAn wf4ata JaTT T4 W T -

(A) Galvanometer (¢TeTCSTAIGR (B) Generator (STATAGY
(C) Motor W69 (D) Ammeter QfbR™

ANSWER of 25;
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26, Which of the following quantitiy s M .1'~||I‘H|
A @R A AT e an
(1) capacitance AT

) BEeTet s T (D) Electric energy LA oy

() tlectric Power nplea el

ANSWER of 26: | ]

: : nduction is given by -
27, The direction of induced eanf. during p|l‘therl|8”cuc |
fare Y wicaTe wifaR fgreerers A fied WO -
(B) Lenz's law 193 7z

(A) Fleming's law e Rl D) Newton's law  Fi3ts
(C) Faraday's law CoIeq 30 ( '

ANSWER of 27; |:

28. An electromagnet is a -
foe-p5< Qe 77 -
(B) Permanent magnet I fis

(A) Temporary magnet S3F p¥<
(C) Both (A) & (B) (A) & (B) HTUTB1 (D) None of these (FTCAIGTEE 727

ANSWER of 28:

29. The S.I. unit of wave length is -
T (AR .1, GFHCB! T -

(A) Meter fIBR (B) Hertz TbT
(C) Weber @R (D) Ampere WfmR
ANSWER of 29:

30. A sound of single frequency is called -
O] FHANFYE THF (A 27 -

(A) Node 4 (B) Noise crerzz
(C) Tone %4 (D) None of these NG 731

ANSWER of 30:

ECTION B

o T =

31. A body starts from rest and has a velocity of 15 m/sec
uniform how far will it move in another ¢ Seconde ?-'ec

b1 39 PR 9 zR 9491 15 m/see (LI 6 (TG *ffis a%
RRRELE R
T (I 6 (P

. Pagerofpp ————

Scanned with CamScanner

in 6 seconds, If the acceleration i




fmrm Y e 333 7
(A) 120m (7 130m
(Cy 145 m (D) 135m
ANSWER of 31: [ |

. A 10 N force is applied on a body to produce in it a acceleration of 1 m/sec?, The mass of

the body is -
Qb1 IFS 1 m/sec? §A9 ooy IR 10 N T At e I@oE 9 79 -

(A) 20 kg (B) 10kg
(C) 15kg (D) 5kg

ANSWER of 32: :’

. A 60 warr bulb burns for 5 hours. What is the energy consumed ?

60 TM6F I U5 5 1 G feam =fE 49539 7

(A) 0.3 KwH (B) 0.5KwH
(C) 0.2 KwH (D) 0.6 KwH

ANSWER of 33: D

. The amount of ice that can be melted by 2000 cal of heat is -
2000 (F14 AR SAE AR 241 974 “Afqnet -

(A) S0gm (B) 25gm
(C) 20gm (D) 40 gm

ANSWER of 34;

. A convex lens of focal length 40 cm is combined with a concave lens of focal length 25 cm.
The power of combination is -

40 cm T TIIZ GA Q4 TGN (1A DTS 25 cm T TR IAGT Q4 WO (77 Ll IR
AEG AT A - -

(A) —=1.5D (B) —3.5D
(C) +42D (D) +6.5D

ANSWER of 35;

. A sound wave has a frequency of 1 kHz and wave length of 50 em. How long will it take
to travel 1.5 km ?

B ¥ I IV 1 kHz OF S 0T 50 em ) TRBIE 1.5 km s sfaata fFwm
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37.

38.

39.

40.

TIPS (B) 10sec

(A) 5sec (D) 6sec
(C) 3sec

ANSWER of 36:

: . £ the eye. Calculate the power of
The far point of a myopic person is 150 ¢ in front of the ey the

. , e - ly.
lens required to him to see distance object clear B ARRUA TZERE frre
QW@WWWISOHNWWWWWIW i
R ENCIE NG B ITE BAE BT I
(4) —0.67D () —123D
(C) +2‘D (D) =25D

ANSWER of 37:

nals of an electric heater is 80 V when it draws

ial di the termi . e
The potential difference between ¢ will the heater draw if potential differences

current of 4 A from the source. What curre

increased to 160 V ?
o B RBA B AT 4 A @17z o7 cfen B go V frearens e =1 Rewwwn 160 v

2 RO BHR o1 fFae &)z F9 7
(A) 6 A (B) 8BA
(C) 5A (D) 2A

ANSWER of 38:

A bar magnet of magnetic moment M is cut into four parts of equal length. The magnetic
moment of each part wil be -

M PAET TS QO WS §EE FIF S I IR ates A8 pEA wNe 39 -

(A) M (B) 2M
(C) 0Zero (D) 0.5M

ANSWER of 39:

An object 2 cmt high is placed at a distance of 16 ¢p
tofac i i
real image of 3 cm high, the focal length of the mirror is —0 S R et

2 cm 84 I8 901 ST AN 2[/T 16 ¢ _YS
4 TG 0 e - wwﬂaﬁm“mwmﬁﬁ'mﬂq |
(A) —9.6cm
(C) —10cm ((B) 9.5¢cm
D) 92cm
ANSWER of 40:

Page 9 of 19 I
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